

On a new application of summation of Jacobi Series by B-Method

S. K. Sahani^{1*}, A. K. Thakur², S. K. Sahu³

^{1*}Department of Mathematics, MIT Campus, (T.U.), Janakpurdham, Nepal

²Department of Mathematics, Dr. C.V. Raman University, Bilaspur (C.G.)

³Department of Mathematics, Research Scholar, Dr. C.V. Raman University, Bilaspur (C.G.)

Email: sureshkumarsahani35@gmail.com^{1*}, drakthakurmath@gmail.com², Shailendra.sahu225@gmail.com³

ABSTRACT:

In this research work, a general theorem on a new application of summation of Jacobi series by B-method or Borel method has been established. The main theorem includes as special cases, a number of well known results. Several new results can also be deduced from it. The result is an extension of classical results of [1].

Keywords: Summability, Fourier series, Borel methods

MSC: 42C10, 35A25, 40G10

1. Introduction:

Summability transformation help us to generalize the concept of limit of a sequence or series and thus provide us a method to assign limits even to sequences which are divergent. Thus transformations or methods can be classified into two ways:

(i) sequence to sequence transformations.

(ii) sequence to function transformations (see [3]).

Knopp [4] has defined the generalized Borel summability. Stone [5] was the first mathematician to apply Borel summability to Fourier series. Sinvaal [6] has applied this method to the conjugate series of the derived Fourier series. Recently Sahney [1] considered the Borel summability of the series.

Let $\nu(z) \in L(-1, 1)$ and the integral

$$\int_{-1}^1 (1-z)^\lambda (1+z)^\varepsilon \nu(z) dz, \lambda > -1, \varepsilon > -1 \text{ exists.}$$

The Jacobi series associated with the function $\nu(z)$ is

$$\nu(z) \sim \sum_{l=0}^{\infty} \alpha_l Q_l^{(\lambda, \varepsilon)}(z) \quad \dots \quad (1)$$

$$\text{where } \alpha_l = \frac{2l + \lambda + \varepsilon + 1}{2^{\lambda + \varepsilon + 1}} \cdot \frac{\Gamma(l+1)}{\Gamma(l + \lambda + 1)} \cdot \frac{\Gamma(l + \lambda + \varepsilon + 1)}{\Gamma(l + \varepsilon + 1)}.$$

$$\int_{-1}^1 (1-i)^\lambda (1+u)^\varepsilon Q_l^{(\lambda, \varepsilon)}(u) \nu(u) du \quad \dots \quad (2)$$

where $Q_l^{(\lambda, \varepsilon)}(z)$ are Jacobi polynomials of degree l and order (λ, ε) .

2. Main Result:

The object of this research paper is apply the Borel's method of summability to Jacobi series at an interior point of the interval $(-1, 1)$.

The following theorem is an extension of Sahney's result [1] for Fourier series.

Theorem : If $\nu(z) \in L(-1, 1)$,

$$\chi(v) = \int_0^v |\eta(x)| dx = O\left(\frac{v}{\log \frac{1}{v}}\right), v \rightarrow +0. \quad \dots \quad (3)$$

$$\text{where } \eta(x) = \chi(z \pm x) - \chi(z) \quad \dots \quad (4)$$

then the Jacobi series (1) is summable (B) to the sum $\chi(z)$ at a point z interior to the open interval $(-1, 1)$.

For the proof of the theorem, the following lemma is needed.

Lemma: Under the condition (3), we have

$$\chi_1(v) \equiv \int_0^v \left| \eta_1(u^1) \right| du^1 = O\left(\frac{v}{\log \frac{1}{v}} \right), \quad v \rightarrow +0 \quad \dots \quad (5)$$

$$\text{Where } \eta_1(u^1) = \chi\{\cos(\theta - u^1)\} - \chi(\cos \theta) \quad \dots \quad (6)$$

and $z = \cos \theta$

$z \pm x = \cos w$,

$\theta - w = u^1$,

$\lambda, \varepsilon \geq \frac{1}{2}$.

Proof of the theorem :

Let $\sigma_l(z)$ denote the l^{th} partial sum of the Jacobi series (1) is given by

$$\sigma_l(z) = \frac{2^{-\lambda-\varepsilon}}{2l + \lambda + \varepsilon + 2} \frac{\Gamma(l+2) \Gamma(l + \lambda + \varepsilon + 2)}{\Gamma(l + \lambda + 1) \Gamma(l + \varepsilon + 1)} \int_{-1}^1 (1-u)^\lambda (1+u)^\varepsilon F_l^{(\lambda, \varepsilon)}(u, z) \nu(u) du$$

where

$$F_l^{(\lambda, \varepsilon)}(u, z) = \frac{Q_{l+1}^{(\lambda, \varepsilon)}(u) Q_l^{(\lambda, \varepsilon)}(z) - Q_l^{(\lambda, \varepsilon)}(u) Q_{l+1}^{(\lambda, \varepsilon)}(z)}{u - z}$$

and

$$G_l = \frac{2^{-\lambda-\varepsilon}}{2l + \lambda + \varepsilon + 2} \frac{\Gamma(l+2) \Gamma(l + \lambda + \varepsilon + 2)}{\Gamma(l + \lambda + 1) \Gamma(l + \varepsilon + 1)} \square 2^{-\alpha-\beta-1} \{l + O(1)\}.$$

Taking $\chi(u) = 1$ then we have

$$1 = G_l \int_{-1}^1 (1-u)^\lambda (1+u)^\varepsilon F_l^{(\lambda, \varepsilon)}(u, z) du$$

therefore

$$\sigma_l(z) - \zeta(z) = \int_{-1}^1 (1-u)^\lambda (1+u)^\varepsilon F_l^{(\lambda, \varepsilon)}(u, z) K(u, z) du$$

where $K(u, z) = \zeta(u) - \zeta(z)$.

In view of the definition Borel method,
 we have,

$$e^{-r} \sum_{l=0}^{\infty} \frac{r^l}{l!} \{\sigma_l(z) - \zeta(z)\}$$

$$= e^{-r} \sum_{l=0}^{\infty} \frac{r^l}{l!} G_l \int_{-1}^1 (1-u)^{\lambda} (1+u)^{\varepsilon} K(u, z) du$$

put $z = \cos \theta$ and $u = \cos w$, we obtain

$$\begin{aligned} & e^{-r} \sum_{l=0}^{\infty} \frac{r^l}{l!} \{ \sigma_l(\cos \theta) - \zeta(\cos \theta) \} \\ &= e^{-r} \sum_{l=0}^{\infty} \frac{r^l}{l!} G_l \int_0^{\pi} (1-\cos w)^{\lambda} (1+\cos w)^{\varepsilon} K(\cos w, \cos \theta) F_l^{(\lambda, \varepsilon)}(\cos w, \cos \theta) \sin w dw \\ &= e^{-\gamma} \sum_{l=0}^{\infty} \frac{\gamma^l}{l!} G_l \left(\int_0^{\gamma^{-1}} + \int_{\gamma^{-1}}^{\theta-\gamma^{-r}} + \int_{\theta-\gamma^{-r}}^{\theta+\gamma^{-\Delta}} + \int_{\theta+\gamma^{-\Delta}}^{\pi-\gamma^{-1}} + \int_{\pi-\gamma^{-1}}^{\pi} \right) (1-\cos w)^{\lambda} (1+\cos w)^{\varepsilon} \\ & K(\cos w, \cos \theta) F_l^{(\lambda, \varepsilon)}(\cos w, \cos \theta) \sin w dw \\ &= M_1 + M_2 + M_3 + M_4 + M_5 \end{aligned} \quad \dots \quad (7)$$

where $0 < \Delta < \frac{1}{2}$.

Let us consider the integral M_1 first
 we have

$$\begin{aligned} M_1 &= e^{-\gamma} \sum_{l=0}^{\infty} \frac{\gamma^l}{l!} G_l \int_0^{\gamma^{-1}} (1-\cos w)^{\lambda} (1+\cos w)^{\varepsilon} K(\cos w, \cos \theta) F_l^{(\lambda, \varepsilon)}(\cos w, \cos \theta) \sin w dw \\ &= e^{-\gamma} \sum_{l=0}^{\infty} \frac{\gamma^l}{l!} G_l \int_0^{\gamma^{-1}} 2^{\lambda+\varepsilon} \left(\sin \frac{w}{2} \right)^{2\lambda} \left(\cos \frac{w}{2} \right)^{2\varepsilon} K(\cos w, \cos \theta) F_l^{(\lambda, \varepsilon)}(\cos w, \cos \theta) \sin w dw \\ &\leq |M_{11}| + |M_{12}| \text{ 'say' } \end{aligned}$$

where

$$\begin{aligned} M_{11} &= e^{-\gamma} \sum_{l=0}^{\infty} \frac{\gamma^l 2^{\lambda+\varepsilon} G_l}{l!} \int_0^{\gamma^{-1}} \left(\sin \frac{w}{2} \right)^{2\lambda} \times \\ & \left(\cos \frac{w}{2} \right)^{2\varepsilon} K(\cos w, \cos \theta) F_l^{(\lambda, \varepsilon)}(\cos w, \cos \theta) Q_{l+1}^{(\lambda, \varepsilon)}(\cos w) Q_l^{(\lambda, \varepsilon)}(\cos \theta) \sin w dw \end{aligned}$$

and M_{12} is α similar expression with $Q_l^{(\lambda, \varepsilon)}(\cos w) Q_{l+1}^{(\lambda, \varepsilon)}(\cos \theta)$ in place of $Q_{l+1}^{(\lambda, \varepsilon)}(\cos w) Q_l^{(\lambda, \varepsilon)}(\cos \theta)$.

$$|M_{11}| = e^{-\gamma} \sum_{l=0}^{\infty} O(l) \int_0^{\gamma^{-1}} w^{2\lambda} |\zeta(\cos w) - \zeta(\cos \theta)| \sin w dw$$

$$= e^{-\gamma} \sum_{l=0}^{\infty} O(l) O(l^{-1}), \text{ using Lebesgue integral}$$

$$= O(1), l \rightarrow \infty, \gamma \rightarrow \infty$$

$$\text{similarly, } |M_{12}| = O(1).$$

$$\text{Thus, } M_1 = O(1) \quad \dots \quad (8)$$

proceeding on the same lines as M_1 ,
 we have

$$M_5 = O(1) \quad \dots \quad (9)$$

now, we consider M_2 ,

$$\begin{aligned} M_2 &= e^{-\gamma} \sum_{l=0}^{\infty} \frac{\gamma^l}{l!} G_l \int_{\gamma^{-1}}^{\theta-\gamma^{-1}} (1-\cos w)^\lambda (1+\cos w)^\varepsilon \\ &\quad \left\{ Q_{l+1}^{(\lambda, \varepsilon)}(\cos w) Q_l^{(\lambda, \varepsilon)}(\cos \theta) - Q_l^{(\lambda, \varepsilon)}(\cos w) Q_{l+1}^{(\lambda, \varepsilon)}(\cos \theta) \right\} \\ &\quad \frac{K(\cos w, \cos \theta)}{\cos w - \cos \theta} \sin w \, dw \\ &= M_{21} - M_{22} \quad (\text{say}) \quad \dots \quad (10) \end{aligned}$$

$$\begin{aligned} M_{21} &= \frac{e^{-\gamma}}{2^{\lambda+\varepsilon+1}} \int_{\gamma^{-1}}^{\theta-\gamma^{-1}} (1-\cos w)^\lambda (1+\cos w)^\varepsilon \\ &\quad \frac{K(\cos w, \cos \theta)}{\cos w - \cos \theta} \sum_{l=0}^{\infty} \left[\frac{\{l+O(1)\} \gamma^l}{l!} \right] \left\{ l^{\frac{-1}{2}} L(\theta) \cos(N\theta + \alpha) + O\left(l^{\frac{-3}{2}}\right) \right\} \times \\ &\quad (l+1)^{\frac{-1}{2}} L(w) \left[\cos\{(N+1)w + 2\} + \frac{O(1)}{(l+1)\sin w} \right] \sin w \, dw \\ &= \frac{e^{-r}}{e^{\lambda+\varepsilon+1}} \sum_{l=0}^{\infty} \frac{\{l+O(1)\} r^l}{l!} \int_{r^{-1}}^{\theta-r^{-1}} (1-\cos w)^\lambda (1+\cos w)^\varepsilon \times \\ &\quad \frac{K(\cos w, \cos \theta)}{\cos w - \cos \theta} l^{\frac{-1}{2}} (l+1)^{\frac{-1}{2}} L(\theta) L(w) \cos(N\theta + \alpha) \left[\cos\{(N+1)w + \alpha\} + \frac{O(1)}{(l+1)\sin w} \right] \times \\ &\quad \sin w \, dw + O(1) \end{aligned}$$

$$\begin{aligned} &= \frac{e^{-r}}{2^{\lambda+\varepsilon+1}} \left(\sum_{l=0}^{\infty} \frac{l r^l}{l! \sqrt{l(l+1)}} \left[\int_{r^{-1}}^{\theta-r^{-1}} (1-\cos w)^\lambda (1+\cos w)^\lambda \frac{K(\cos w, \cos \theta)}{\cos w - \cos \theta} L(\theta) L(w) \times \right. \right. \\ &\quad \cos(N\theta + \alpha) \cos\{(N+1)w + \alpha\} \sin w \, dw \\ &\quad \left. \left. + \int_{r^{-1}}^{\theta-r^{-1}} (1-\cos w)^\lambda (1+\cos w)^r \frac{K(\cos w, \cos \theta)}{\cos w - \cos \theta} L(\theta) L(w) \cos(N\theta + 2) \frac{O(1)}{l+1} dw \right] + \right. \\ &\quad \left. \sum_{l=0}^{\infty} \frac{O(1) \gamma^l}{l!} \int_{\gamma^{-1}}^{\theta-\gamma^{-1}} \frac{|\zeta(\cos w) - \zeta(\cos \theta)|}{|\cos w - \cos \theta|} dw + \sum_{l=0}^{\infty} \frac{O(1) \gamma^l}{l(l+1)l!} \int_{\gamma^{-1}}^{\theta-\gamma^{-1}} \frac{|\zeta(\cos w) - \zeta(\cos \theta)|}{|\cos w - \cos \theta|} dw \right) \\ &= J_1 + J_2 + J_3 + J_4, \text{ say.} \end{aligned}$$

Now, we observe that

$$J_2 = O(1), \quad J_3 = O(1) \quad \text{and} \quad J_4 = O(1)$$

we have

$$J_1 = \frac{e^{-\gamma}}{2^{\lambda+\varepsilon+1}} \sum_{l=0}^{\infty} \frac{\gamma^l}{l!} \int_{\gamma^{-1}}^{\theta-\gamma^{-1}} (1-\cos w)^\lambda (1+\cos w)^\varepsilon \frac{\zeta(\cos w) - \zeta(\cos \theta)}{\cos w - \cos \theta} L(\theta) L(w) \times$$

$$\left[\cos \{N(\theta + w) + w + 2\alpha\} + \cos \{N(\theta - w) + w\} \right] \sin w \, dw$$

$$= J_{11} + J_{12} \text{ say,}$$

where

$$J_{11} = \frac{e^{-\gamma}}{2^{\lambda+\varepsilon+1}} \sum_{l=0}^{\infty} \frac{\gamma^l}{l!} \int_{\gamma^{-1}}^{\theta-\gamma^{-1}} (1-\cos w)^{\lambda} (1+\cos w)^{\varepsilon} \times$$

$$\frac{\zeta(\cos w) - \zeta(\cos \theta)}{\cos w - \cos \theta} L(\theta) L(w) \cos \{N(\theta + w) + w + 2\alpha\} \sin w \, dw$$

and

$$J_{12} = \frac{e^{-\gamma}}{2^{\lambda+\varepsilon+1}} \int_{\gamma^{-1}}^{\theta-\gamma^{-1}} (1-\cos w)^{\lambda} (1+\cos w)^{\varepsilon} \times$$

$$\frac{\zeta(\cos w) - \zeta(\cos \theta)}{\cos w - \cos \theta} \sum_{l=0}^{\infty} \gamma^l \frac{\cos \{N(w - \theta) + w\}}{l!} \sin w \, dw$$

substituting the value of N i.e.

$$l + \frac{\lambda + \varepsilon + 1}{2} \text{ and simplifying, we obtain}$$

$$J_{12} = \frac{e^{-\gamma}}{2^{\lambda+\varepsilon+1}} \int_{\gamma^{-1}}^{\theta-\gamma^{-1}} (1-\cos w)^{\lambda} (1+\cos w)^{\varepsilon} \times$$

$$\frac{\zeta(\cos w) - \zeta(\cos \theta)}{\cos w - \cos \theta} \sin w \left[\sum_{l=0}^{\infty} \frac{\gamma^l \cos \{(\theta - w)l\}}{l!} \right] \times$$

$$\cos \left\{ w - \frac{\lambda + \varepsilon + 1}{2} (\theta - w) \right\} + \sum_{l=0}^{\infty} \frac{\gamma^l \sin \{l(\theta - w)\}}{l!} \sin \left\{ w - \frac{\lambda + \varepsilon + 1}{2} (\theta - w) \right\}$$

$$= J_{1,2,1} + J_{1,2,2} \quad \text{'say'}$$

since, we have

$$\sum_{l=0}^{\infty} \frac{\gamma^l \sin u' l}{l!} = e^{\gamma \cos u'} \sin(\gamma \sin u'),$$

$$e^{-\gamma} \sum_{l=0}^{\infty} \frac{\gamma^l \sin l u'}{l!} = \frac{\sin(\gamma \sin u')}{e^{\{\gamma(1-\cos u')\}}}$$

and

$$e^{-\gamma} \sum_{l=0}^{\infty} \frac{\gamma^l \cos l u'}{l!} = e^{\gamma \cos u'} \cos \{u' + \gamma \sin u'\}$$

therefore, we have

$$J_{1,2,2} = O(1) \int_{\gamma^{-1}}^{\theta-\gamma^{-1}} |\eta_1(u')| \sin(\gamma \sin u') \, du', \text{ where } \gamma^{-1} < \delta < \theta - \gamma'.$$

$$= O(1) \left\{ \frac{\gamma}{e^{\gamma}} \right\} \int_{\gamma^{-1}}^{\delta} |\eta_1(u')| \, du'$$

$$= O(1) O\left(\frac{1}{\gamma}\right) O(1).$$

Thus, $J_{1,2,2} = O(1)$ as $\gamma \rightarrow \infty$ and $0 < \gamma^{-1} < \delta$.

Similarly, we have

$$J_{1,2,1} = O(1)$$

$$\therefore J_{12} = O(1).$$

In the same way, we obtain

$$J_{11} = O(1).$$

$$\text{Thus, } J_1 = O(1)$$

$$\text{consequently, } M_{21} = O(1),$$

$$M_{22} = O(1)$$

$$\text{and } M_2 = O(1).$$

Also, we have, as M_2

$$M_4 = O(1) \quad \dots \quad (11)$$

now,

$$M_3 = e^{-\gamma} \sum_{l=0}^{\infty} \frac{\gamma^l G_l}{l!} \int_{\theta-\gamma^{-1}}^{\theta+\gamma^{-1}} (1-\cos w)^\lambda (1+\cos w)^\varepsilon \times$$

$$\sin w \{ \zeta(\cos w) - \zeta(\cos \theta) \} F_l^{(\lambda, \varepsilon)}(\cos w, \cos \theta) dw$$

using the result to [2], we have

$$M_3 = \frac{e^{-\gamma}}{2^{\lambda+\varepsilon+2}} \sum_{l=0}^{\infty} \frac{\gamma^l}{l!} \int_{\theta-\gamma^{-1}}^{\theta+\gamma^{-1}} (1-\cos w)^\lambda (1+\cos w)^\varepsilon \{ \zeta(\cos w) - \zeta(\cos \theta) \} \times$$

$$L(\theta) L(w) \left[\frac{\sin\left\{\left(N + \frac{1}{2}\right)(\theta + w)\right\} 2\alpha}{\sin \frac{\theta + w}{2}} + \frac{\sin\left\{\left(N + \frac{1}{2}\right)(\theta - w)\right\}}{\sin \frac{\theta - w}{2}} + O(1) \right] \sin w dw$$

$$= M_{31} + M_{32} + M_{33} \quad \text{'say'}$$

now, first we take up M_{32} , we have

$$M_{32} = \frac{L(\theta) e^{-\gamma}}{2^{\lambda+\varepsilon+2}} \int_{\theta-\gamma^{-1}}^{\theta+\gamma^{-1}} (1-\cos w)^\lambda (1+\cos w)^\varepsilon \{ \zeta(\cos w) - \zeta(\cos \theta) \} \times$$

$$\left[\sum_{l=0}^{\infty} \frac{\gamma^l}{l!} \frac{\sin\left\{\left(l + \frac{\lambda + \varepsilon}{2} + 1\right)(\theta - w)\right\}}{\sin \frac{\theta - w}{2}} \right] \sin w dw$$

now, putting $\theta - w = u'$, we have

$$M_{32} = O \left[e^{-\gamma} \int_{-\gamma^{-1}}^{\gamma^{-\Delta}} \frac{|\eta_1(u')|}{u'} \left\{ \sum_{l=0}^{\infty} \frac{\gamma' \sin l u'}{l!} \cos \left(\frac{\lambda + \varepsilon}{2} + 1 \right) u' + \sum_{l=0}^{\infty} \frac{\gamma' \cos l u'}{l!} \sin \left(\frac{\lambda + \varepsilon}{2} + 1 \right) u' \right\} du' \right]$$

$$= M_{3,2,1} + M_{3,2,2} \quad \text{'say'}$$

then

$$M_{3,2,1} = O \left\{ \int_{-\gamma^{-1}}^{\gamma^{-\Delta}} \frac{|\eta_1(u')|}{u'} \frac{\sin(\gamma \sin u')}{\gamma(1 - \cos u')} du' \right\}$$

we have, if $0 < \Delta < \Delta^1 < \frac{1}{2}$, by second mean value theorem

$$M_{3,2,1} = O \left\{ \frac{1}{e^{\gamma^{\Delta}} 2 \sin^2 \left(\frac{\gamma^{\Delta}}{2} \right)} \int_{-\gamma^{-1}}^{\gamma^{-\Delta^1}} \frac{|\eta_1(u')|}{u'} \sin(\gamma \sin u') du' \right\}$$

$$= O \left\{ \int_{-\gamma^{-1}}^{\gamma^{-\Delta^1}} \frac{|\eta_1(u')|}{u'} du' \right\},$$

using integrating by parts and lemma, we have

$$M_{3,2,1} = O \left\{ O \left[\frac{1}{\log \frac{1}{u'}} \right]_{-\gamma^{-1}}^{\gamma^{-\Delta^1}} + \int_{-\gamma^{-1}}^{\gamma^{-\Delta^1}} O \left(\frac{1}{u' \log \frac{1}{u'}} \right) du' \right\}$$

$$= O \left(\frac{1}{\log \gamma} \right) + O \left(\left[\log \log \frac{1}{u'} \right]_{-\gamma^{-1}}^{\gamma^{-\Delta^1}} \right)$$

$$= O(1) + O(1)$$

$$= O(1) \text{ as } \gamma \rightarrow \infty.$$

Similarly, we have

$$M_{3,2,2} = O(1) \text{ and}$$

$$\text{hence } M_{32} = O(1).$$

On the lines of M_{32} , we obtain

$$M_{31} = O(1).$$

We also observe that under the hypothesis of the theorem, we have

$$M_{33} = O(1).$$

Therefore, we obtain

$$M_3 = O(1) \quad \dots \quad (12)$$

Combining (8), (9), (10), (11) and (12), we obtain (7).

This completes the proof of the theorem.

References

- [1] B.N. Sahney, A note on Borel summability of Fourier series, Bolletino Unione Matematica Italiana, 16 (1961), 44 – 47.
- [2] G. Szego, Orthogonal Polynomials, American Mathematical Society, Colloquium Publication, Vol. XX III, 1959.
- [3] R.C. Padhy, On recent trends of summability methods and some of its application, Thesis, P.G. Department of Mathematics, Berhampur University, 2022.
- [4] Knopp. K, The theory and application of Infinite series, London (1928).
- [5] Stone, M. H., The Borel summability of Fourier Series, Amer. Jour. of Math. 48 (1926), 101 – 112.
- [6] Sinvhal. S.D., Borel summability of the conjugate series of the Derived series of a Fourier seires, Duko. Math. Jour., 22 (1955), 445 – 450.